Fort Bend County Tabulation Bid 25-027

Construction of Long Point Creek Channel Rehabilitation and Conveyance Improvements for Fort Bend County Drainage District

Recommended: MC2 Civil, LLC \$3,464,115.00 Funding: Drainage Bonds

Company	Bid Price	Completion Time in Calendar Days		
MC2 Civil, LLC Houston, TX	\$3,464,115.00	465		
TLC Construction Contract Services Houston, TX	\$4,419,903.00	465		

DVL Enterprises, LLC - Disqualified due to providing incorrect bid pricing form with submittal.

Darby Lane Bridge and Channel Rehabilitation and Conveyance

Project:

Improvements to Long Point Creek

UPIN: Job No:

Prepared By: iGET Services LLC

Date: 12/26/2024



	MC2 Civil LLC	TLC Construction Contract Services
Gand Total	\$3,464,115.00	\$4,419,903.00
DAYS	465	465

NO.						Ī						
NO. NO. NO. NO.				DESCRIPTION	UNIT	QUANTITY	Unit Price	Amount	Variance	Unit Price	Amount	Variance
DRAWING DWG PROJECT SIGN	NO.			DADATION ITEMS		4.0						1
2 T00100001 HC 100 PREPARING ROW REMOVINO OLD STRUCTURES – INLETS (ALL BA 1.00 \$3,000.00 \$33,000.00 400% \$353.00 \$353.00 \$353.00 410 HC 485 DEPHS) EA 1.00 \$3,000.00 \$3,000.00 400% \$353.00 \$353.00 410 HO0495008 HC 495 (ALL DEPTHS) EA 2.00 \$3,000.00 \$6,000.00 500% \$667.00 \$3,000.00 20 HC 400 BEMOVE A RELOCATE SIGNS LS 10.00 \$150.00 \$150.00 \$150.00 \$400% \$300.00 \$3,000.00 20 HO050001 HC 500 REMOVE A RELOCATE SIGNS LS 10.00 \$750.00 \$750.00 400% \$300.00 \$3,000.00 20 HO05001 HC 500 REMOVE A RELOCATE SIGNS LS 10.00 \$750.00 \$750.00 400% \$300.00 \$3,000.00 20 HO05001 HC 501 TIREE PROTECTION & TRIMMING EA 30.00 \$2550.00 \$3750.00 400% \$352.00 \$17,460.00 20 HO05001 HC 501 TIREE PROTECTION & TRIMMING EA 30.00 \$2550.00 \$3750.00 400% \$352.00 \$17,460.00 20 HO045000 HC 403 SURFACE AND DISPOSE EXISTING ASPHALTIC HO045000 HC 403 SURFACE AND BASE MATERIAL (ALL DEPTHS) SY 4,000.00 \$10.00 \$	A	1										
REMOVING OLD STRUCTURES - INLETS (ALL EA 1.00 \$3,000.00 \$3,000.00 \$400.00 \$353.00 \$353.00 41	1	DRAWING	DWG	PROJECT SIGN	EA	2.00	\$1,700.00	\$3,400.00	70%	\$1,260.00	\$2,520.00	26%
3 H00495007 HC 495 DEPTHS) EA 1.00 \$3,000.00 \$3,000.00 400% \$353.00 \$353.00 41	2	T00100001	HC 100		STA	55.00	\$6,000.00	\$330,000.00	300%	\$9,468.00	\$520,740.00	531%
HO0495008 HC 495 (ALL DEPTHS)	3	H00495007	HC 495	`	EA	1.00	\$3,000.00	\$3,000.00	400%	\$353.00	\$353.00	-41%
6 H00500001 HC 500 REMOVE & RELOCATE MAIL BOX EA 10.00 \$75.00 \$75.00 .85% \$1,800.00 \$18,000.00 260	4	H00495008	HC 495		EA	2.00	\$3,000.00	\$6,000.00	500%	\$667.00	\$1,334.00	33%
The first content The	5	H00500002	HC 500	REMOVE & RELOCATE SIGNS	LS	10.00	\$150.00	\$1,500.00	-40%	\$300.00	\$3,000.00	20%
Remover and Dispose Existing Asphalatic Cy 9,000.00 \$42.00 \$378,000.00 223% \$34.00 \$306,000.00 162	6	H00500001	HC 500	REMOVE & RELOCATE MAIL BOX	EA	10.00	\$75.00	\$750.00	-85%	\$1,800.00	\$18,000.00	260%
Note	7	H00501001	HC 501	TREE PROTECTION & TRIMMING	EA	30.00	\$250.00	\$7,500.00	-69%	\$582.00	\$17,460.00	-27%
9 H00463002 HC 463 SURFACE AND BASE MATERIAL (ALL DEPTHS) SY 4,000.00 \$10.00 \$40,000.00 0% \$12.00 \$48,000.00 20	8	H00130001	HC 130	BORROW	CY	9,000.00	\$42.00	\$378,000.00	223%	\$34.00	\$306,000.00	162%
Subtotal of Item A Subtotal \$782,650.00 Subtotal \$972,407.00	9	H00463002	HC 463	SURFACE AND BASE MATERIAL (ALL DEPTHS)	SY	4,000.00	\$10.00	\$40,000.00		\$12.00	\$48,000.00	20%
B	10	H00250002	HC 250	CONSTRUCTION PERIMETER FENCE	LF	5,000.00		\$12,500.00	-50%	Ţ	\$55,000.00	120%
11 H00220002 HC 220 LIME TREATED SUBGRADE (8" THICK) SY 5,000.00 \$12.00 \$60,000.00 140% \$24.00 \$120,000.00 380					Subto	tal of Item A	Subtotal	\$782,650.00		Subtotal	\$972,407.00	4
12 H00250001 HC 250 HOT MIX ASPHALTIC CONCRETE TON 3,000.00 \$105.00 \$315,000.00 5% \$156.00 \$468,000.00 56 \$15,000.00 \$10,000.00 \$1	В		PAVING									
13 H00250002 HC 250 HMAC TACK COAT GAL 2,500.00 \$4.00 \$10,000.00 -60% \$6.00 \$15,000.00 -40												
14 H00340004 HC 250 ASPHALTIC CONCRETE SURFACING FOR LEVEL TON												
14 H00340004 HC 250 UP (SPECIFY THICKNESS) TON 1,000.00 \$130.00 \$130.000 24% \$175.00 \$175,000.00 67	13	H00250002	HC 250		GAL	2,500.00	\$4.00	\$10,000.00	-60%	\$6.00	\$15,000.00	-40%
Subtotal of Item B Subtotal \$515,000.00 Subtotal \$778,000.00 C DRAINAGE TERNCH EXCAVATION PROTECTION (DEPTHS > LF 2,500.00 \$1.00 \$2,500.00 -60% \$0.48 \$1,200.00 -81 15 H00429001 HC 429 5 FEET) LF 2,500.00 \$1.00 \$2,500.00 -60% \$0.48 \$1,200.00 -81 16 H00460003 HC 460 REINFORCED CONCRETE PIPE (CL III)(24 IN) LF 800.00 \$275.00 \$220,000.00 282% \$216.00 \$172,800.00 200 17 H00471002 HC 471 FT ≤ DEPTH ≤ 10 FT) EA 2.00 \$7,000.00 \$14,000.00 133% \$6,864.00 \$13,728.00 129 18 H00472002 HC 472 AREA) EA 5.00 \$4,600.00 \$23,000.00 15% \$5,993.00 \$29,965.00 50 19 H00491001 HC 491 REINFORCED CONCRETE SLOPE PAVING (5") SY 800.00 \$25.00 \$20,000.00 -91% \$156.00 \$124,800.00 -41 20 H00491002 HC 491 MOW STRIP SY 1,000.00 \$10,000.00 \$10,000.00 -80% \$109.00 \$109,000.00 18 21 H1100002 HC 110 ROADSIDE DITCH REGRADING LF 3,000.00 \$30,000 \$38.00 \$38.00 \$330.00 \$30.00 \$39,000.00 50 22 H1200001 HC 493 RIPRAP GRADATION-1 (MIN. 18") SY 500.00 \$100.00 \$50,000.00 14% \$226.00 \$113,000.00 \$113,000.00 157 Subtotal of Item C Subtotal \$749,660.00 Subtotal \$913,093.00		1100040004	110.050		TON	4 000 00	0400.00	# 400 000 00	0.40/	#175.00	0.475 000 00	070/
C DRAINAGE TRENCH EXCAVATION PROTECTION (DEPTHS > 15 H00429001 HC 429 5 FEET) LF 2,500.00 \$1.00 \$2,500.00 -60% \$0.48 \$1,200.00 -81 16 H00460003 HC 460 REINFORCED CONCRETE PIPE (CL III)(24 IN) LF 800.00 \$275.00 \$220,000.00 282% \$216.00 \$172,800.00 200 17 H00471002 HC 471 FT ≤ DEPTH ≤ 10 FT) EA 2.00 \$7,000.00 \$14,000.00 \$133% \$6,864.00 \$13,728.00 \$129 18 H00472002 HC 472 AREA) INLET COMPLETE (TY A) (SPL-1)(MOD)(BRIDGE EA 5.00 \$4,600.00 \$223,000.00 \$15% \$5,993.00 \$29,965.00 \$0.00 \$19 19 H00491001 HC 491 REINFORCED CONCRETE SLOPE PAVING (5") SY 800.00 \$25.00 \$20,000.00 -91% \$156.00 \$124,800.00 -41 20 H00491002 HC 491 MOW STRIP SY 1,000.00 \$10,000 \$10,000 -40% \$13.00 \$39,000.00 \$18 21 H1100002 HC 110 ROADSIDE DITCH REGRADING LF 3,000.00 \$300.00 \$32,160.00 90% \$30.00 \$39,000.00 30 22 H1200001 HC 220 CHANNEL EXCAVATION CY 10,320.00 \$300.00 \$39,21,600.00 90% \$30.00 \$300.00 \$309,600.00 50 23 H00493001 HC 493 RIPRAP GRADATION-1 (MIN. 18") SY 500.00 \$100.00 \$50,000.00 14% \$20.00 \$113,000.00 \$113,000.00 \$11 Subtotal of Item C Subtotal \$749,660.00 Subtotal \$943,093.00	14	H00340004	HC 250	UP (SPECIFY THICKNESS)					24%			
TRENCH EXCAVATION PROTECTION (DEPTHS > LF 2,500.00 \$1.00 \$2,500.00 -60% \$0.48 \$1,200.00 -81	_				Subto	tal of Item B	Subtotai	\$515,000.00		Subtotal	\$778,000.00	4
15	С		DRAINAGI			,						
16 H00460003 HC 460 REINFORCED CONCRETE PIPE (CL III)(24 IN) LF 800.00 \$275.00 \$220,000.00 282% \$216.00 \$172,800.00 200 17 H00471002 HC 471 FT ≤ DEPTH ≤ 10 FT) EA 2.00 \$7,000.00 \$14,000.00 133% \$6,864.00 \$13,728.00 129 18 H00472002 HC 472 AREA) EA 5.00 \$4,600.00 \$23,000.00 15% \$5,993.00 \$29,965.00 50 19 H00491001 HC 491 REINFORCED CONCRETE SLOPE PAVING (5") SY 800.00 \$25,000.00 91% \$156.00 \$124,800.00 -41 20 H00491002 HC 491 MOW STRIP SY 1,000.00 \$10,000.00 80 \$10,000.00 \$109,000.00 \$109,000.00 \$109,000.00 \$130.00 \$39,000.00 \$20 \$100.00	15	H00429001	HC 429		LF	2.500.00	\$1.00	\$2.500.00	-60%	\$0.48	\$1,200.00	-81%
The content of the	16	H00460003			LF				282%			
18 H00472002 HC 472 AREA) EA 5.00 \$4,600.00 \$23,000.00 15% \$5,993.00 \$29,965.00 50 19 H00491001 HC 491 REINFORCED CONCRETE SLOPE PAVING (5") SY 800.00 \$25.00 \$20,000.00 -91% \$156.00 \$124,800.00 -41 20 H00491002 HC 491 MOW STRIP SY 1,000.00 \$10,000.00 -80% \$109.00 \$109,000.00 118 21 H1100002 HC 110 ROADSIDE DITCH REGRADING LF 3,000.00 \$6.00 \$18,000.00 -40% \$13.00 \$39,000.00 30 22 H1200001 HC 120 CHANNEL EXCAVATION CY 10,320.00 \$38.00 \$392,160.00 90% \$30.00 \$309,600.00 50 23 H00493001 HC 493 RIPRAP GRADATION-1 (MIN. 18") SY 500.00 \$100.00 \$50,000.00 14% \$226.00 \$113,000.00 157 30 HC 493 RIPRAP GRADATION-1 (MIN. 18") SY 500.00 <td>17</td> <td>H00471002</td> <td>HC 471</td> <td>PRECAST CONCRETE STANDARD MANHOLE (5 FT ≤ DEPTH ≤ 10 FT)</td> <td>EA</td> <td>2.00</td> <td>\$7,000.00</td> <td>\$14,000.00</td> <td>133%</td> <td>\$6,864.00</td> <td>\$13,728.00</td> <td>129%</td>	17	H00471002	HC 471	PRECAST CONCRETE STANDARD MANHOLE (5 FT ≤ DEPTH ≤ 10 FT)	EA	2.00	\$7,000.00	\$14,000.00	133%	\$6,864.00	\$13,728.00	129%
REINFORCED CONCRETE SLOPE PAVING (4") -			HC 472	AREA)							* - /	
20 H00491002 HC 491 MOW STRIP SY 1,000.00 \$10.00 \$10,000.00 -80% \$109.00 \$109,000.00 118 21 H1100002 HC 110 ROADSIDE DITCH REGRADING LF 3,000.00 \$6.00 \$18,000.00 -40% \$13.00 \$39,000.00 30 22 H1200001 HC 120 CHANNEL EXCAVATION CY 10,320.00 \$38.00 \$392,160.00 90% \$30.00 \$309,600.00 50 23 H00493001 HC 493 RIPRAP GRADATION-1 (MIN. 18") SY 500.00 \$100.00 \$50,000.00 14% \$226.00 \$113,000.00 157 Subtotal of Item C Subtotal \$749,660.00 Subtotal \$913,093.00	19	H00491001			SY	800.00	\$25.00	\$20,000.00	-91%	\$156.00	\$124,800.00	-41%
21 H1100002 HC 110 ROADSIDE DITCH REGRADING LF 3,000.00 \$6.00 \$18,000.00 -40% \$13.00 \$39,000.00 30 22 H1200001 HC 120 CHANNEL EXCAVATION CY 10,320.00 \$38.00 \$392,160.00 90% \$30.00 \$309,600.00 50 23 H00493001 HC 493 RIPRAP GRADATION-1 (MIN. 18") SY 500.00 \$100.00 \$50,000.00 14% \$226.00 \$113,000.00 157 Subtotal of Item C Subtotal \$749,660.00 Subtotal \$913,093.00	00	110040406			0)/	4 000 00	040.00	# 40.000.00	0001	0406.00	# 400 000 00	1400
22 H1200001 HC 120 CHANNEL EXCAVATION CY 10,320.00 \$38.00 \$392,160.00 90% \$30.00 \$309,600.00 50 23 H00493001 HC 493 RIPRAP GRADATION-1 (MIN. 18") SY 500.00 \$100.00 \$50,000.00 14% \$226.00 \$113,000.00 157 Subtotal of Item C Subtotal \$749,660.00 Subtotal \$913,093.00												
23 H00493001 HC 493 RIPRAP GRADATION-1 (MIN. 18") SY 500.00 \$100.00 \$50,000.00 14% \$226.00 \$113,000.00 157 Subtotal of Item C Subtotal \$749,660.00 Subtotal \$913,093.00												
Subtotal of Item C Subtotal \$749,660.00 Subtotal \$913,093.00							*	4		*	* /	
			. 10 100	TO TO A CICIONATION I NAME TO J						*		
	D		TRAFFIC (CONTROL PLAN	Cubio	01 110111 0	Captotal	ψ1 1 0,000.00		Juniotui	ψο 10,000.00	+

Darby Lane Bridge and Channel Rehabilitation and Conveyance

Project:

Improvements to Long Point Creek

UPIN: Job No:

Prepared By: **iGET Services LLC**

Date: 12/26/2024



	MC2 Civil LLC	TLC Construction Contract Services	
Gand Total	\$3,464,115.00	\$4,419,903.00	
DAYS	465	465	

ITEM NO.	Contract Item No.	SPEC NO.	DESCRIPTION	UNIT	QUANTITY	Unit Price	Amount	Variance	Unit Price	Amount	Variance
			WORK ZONE PAVEMENT MARKINGS 4"								
			WHITE/SOLID (REMOVABLE) FURNISHED -								
24	H00665003	HC 665	APPLIED & REMOVED	LF	10,000.00	\$ 0.80	\$8,000.00	33%	\$ 1.00	\$10,000.00	67%
			WORK ZONE PAVEMENT MARKINGS 4"								
05	LIOOCCEOOC	LIC CCE	YELLOW/SOLID (REMOVABLE) FURNISHED- APPLIED & REMOVED	LF	40,000,00	. 0.00	¢0,000,00	70/	. 4.00	¢40,000,00	2004
25	H00665006	HC 665	TRAFFIC CONTROL - BARRICADES, BARRIERS,	LF	10,000.00	\$ 0.80	\$8,000.00	7%	\$ 1.00	\$10,000.00	33%
26	H00671003	HC 710	BARRELS, CONES, AND SIGNING	MO	10.00	\$ 1,100.00	\$11,000.00	-86%	\$ 7,040.00	\$70,400.00	-12%
27	1100071003	DRG	FLASHING ARROW BOARD	HR	1,000.00	\$ 9.20				\$3,000.00	
21		DICO	ITEMPORARY COMMERCIAL DRIVEWAYS -	HIN	1,000.00	φ 9.20	\$9,200.00	-39 /0	φ 3.00	φ3,000.00	-00/6
28	H00671001	HC 671	FURNISH-INSTALL & REMOVE	EA	10.00	\$ 1,700.00	\$17,000.00	-53%	\$ 2,428.00	\$24,280.00	-33%
					tal of Item D	Subtota	. ,		Subtotal	. ,	_
_		CICNING /	AND PAVEMENT MARKINGS	Subio	ital of Itelli D	Subtota	\$55,200.00		Subtotal	\$117,000.00	,
_		SIGNING A	ALUMINUM SIGNS (GROUND MOUNTED)-								
29	H00624001	HC 624	FURNISH & INSTALL	EA	20.00	\$250.0	\$5,000.00	108%	\$480.00	\$9,600.00	300%
23	1100024001	110 024	REFLECTORIZED PAVEMENT MARKINGS TYPE I	LA	20.00	φ230.00	\$5,000.00	100 /6	φ400.00	\$9,000.00	30076
			(THERMOPLASTIC) 4" YELLOW/SOLID - FURNISH								
30	H00660006	HC 660	& APPLIED (15' OVER 40')	LF	5,000.00	\$0.7	\$3,500.00	-44%	\$2.00	\$10,000.00	60%
	110000000		REFLECTORIZED PAVEMENT MARKINGS TYPE I		0,000.00	ψ0	φο,σσοίσο	1170	ψ2.00	ψ10,000.00	0070
			(THERMOPLASTIC) 4" YELLOW/DASHED -								
31	H00660005	HC 660	FURNISH & APPLIÉD	LF	2,000.00	\$0.8	\$1,700.00	-32%	\$2.00	\$4,000.00	60%
			REFLECTORIZED PAVEMENT MARKINGS TYPE I		,				· ·	. ,	
			(THERMOPLASTIC) 4" WHITE/DASHED -								
32	H00660002	HC 660	FURNISH & APPLIED (15' OVER 40')	LF	1,000.00	\$0.8	\$850.00	-32%	\$2.00	\$2,000.00	60%
			REFLECTORIZED PAVEMENT MARKINGS TYPE I								
			(THERMOPLASTIC) 4" WHITE/SOLID - FURNISH &								
33	H00660004	HC 660	APPLIED (15' OVER 40')	LF	5,000.00	\$0.70	\$3,500.00	-44%	\$2.00	\$10,000.00	60%
			REFLECTORIZED PAVEMENT MARKINGS TYPE I								
			(THERMOPLASTIC) 8" WHITE/SOLID - FURNISH &								
34	H00660010	HC 660	APPLIED (15' OVER 40')	LF	1,000.00	\$1.70	\$1,700.00	36%	\$3.00	\$3,000.00	140%
			REFLECTORIZED PAVEMENT MARKINGS TYPE I								
0.5	1100000011	110 000	(THERMOPLASTIC) 12" WHITE/SOLID - FURNISH		000.00	0.4.5		4050/	# F 00	# 4 000 00	4500/
35	H00660011	HC 660	& APPLIED	LF	200.00	\$4.50	\$900.00	125%	\$5.00	\$1,000.00	150%
			REFLECTORIZED PAVEMENT MARKINGS TYPE I								
36	H00660013	HC 660	(THERMOPLASTIC) 24" WHITE/SOLID - FURNISH & APPLIED	LF	150.00	\$10.0	\$1,500.00	186%	\$13.00	\$1,950.00	271%
30	H00000013	HC 000	REFLECTORIZED PAVEMENT MARKERS TYPE II-	LF	150.00	\$10.00	\$1,500.00	100%	\$13.00	\$1,950.00	2/170
37	H00663004	HC 660	C-R - FURNISH & INSTALL	EA	150.00	\$7.0	\$1,050.00	40%	\$8.00	\$1,200.00	60%
31	1100003004	110 000	NON-REFLECTORIZED CERAMIC TRAFFIC	LA	130.00	Ψ1.00	\$1,030.00	40 /0	φ0.00	\$1,200.00	0078
38	H00663007	HC 660	BUTTONS (WHITE) - FURNISH & INSTALL	EA	150.00	\$6.0	\$900.00	50%	\$6.00	\$900.00	50%
30	1100003007	110 000	BOTTONO (WTITE) TORRIGITA INCTALE	LA	130.00	ψ0.00	γ900.00	30 70	ψ0.00	ψ900.00	30 /8
			REMOVING PAVEMENT STRIPING & MARKINGS								
39	H00674007		(4" WIDTH, ANY COLOR/DASHED) (15' OVER 40')	LF	3.000.00	\$1.10	\$3,300.00	10%	\$1.00	\$3.000.00	0%
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		REMOVING PAVEMENT MARKINGS (ANY		2,222.00	\$11.1	\$2,200.00	. 370	\$1.00	\$2,000.00	3,0
40	H00674008	HC 663	BUTTON)	EA	100.00	\$1.30	\$130.00	-88%	\$1.00	\$100.00	-91%
			NON-REFLECTORIZED CERAMIC TRAFFIC			,	, , , , , , , , , , , , , , , , , , , ,		7	,,,,,,,,	
41	H00674006	HC 663	BUTTONS (WHITE) - FURNISH & INSTALL	EA	150.00	\$6.0	\$900.00	20%	\$6.00	\$900.00	20%
			. ,	Subto	tal of Item E	Subtota			Subtotal		ol

Darby Lane Bridge and Channel Rehabilitation and Conveyance Improvements to Long Point Creek

Project: UPIN: Job No:

Prepared By: **iGET Services LLC**

Date: 12/26/2024 Format Row & Column

	MC2 Civil LLC	TLC Construction Contract Services
Gand Total	\$3,464,115.00	\$4,419,903.00
DAYS	465	465

					ſ						
ITEM NO.	Contract Item No.	SPEC NO.	DESCRIPTION	UNIT	QUANTITY	Unit Price	Amount	Variance	Unit Price	Amount	Variance
F		STRUCTU	IRE								
42	400-7010	7010	CEM STABIL BKFL	CY	90.00	\$150.00	\$13,500.00	-34%	\$106.00	\$9,540.00	-54%
43	400-7001	7001	STRUCTURAL EXCAVATION	CY	150.00	\$10.00	\$1,500.00	-71%	\$36.00	\$5,400.00	3%
44	496-6008	6008	REMOVE STRUCTURE (BOX CULVERT)	LF	100.00	\$120.00	\$12,000.00	-26%	\$154.00	\$15,400.00	-6%
45	416-7005	7005	DRILL SHAFT (30 IN)	LF	360.00	\$820.00	\$295,200.00	191%	\$576.00	\$207,360.00	104%
46	420-7012	7012	CL C CONC (ABUT)	CY	40.00	\$3,000.00	\$120,000.00	99%	\$3,023.00	\$120,920.00	101%
47	422-7001	7001	REINF CONC SLAB	SF	1,800.00	\$85.00	\$153,000.00	253%	\$64.00	\$115,200.00	165%
48	422-7013	7013	APPROACH SLAB	CY	48.00	\$1,600.00	\$76,800.00	75%	\$579.00	\$27,792.00	-37%
49	425-7001	7001	PRESTR CONC GIRDER (TX28)	LF	238.00	\$425.00	\$101,150.00	-6%	\$739.00	\$175,882.00	63%
50	450-7030	7030	RAIL (TY C1W)	LF	120.00	\$500.00	\$60,000.00	75%	\$384.00	\$46,080.00	35%
			LAMINATED ELASTOMERIC BEARING PAD (Min.								
51	434-6002		50 DUROMETER)	EA	8.00	\$100.00	\$800.00	-82%	\$420.00	\$3,360.00	-26%
52	423-7001	7001	RETAINING WALL (MSE)-WING WALL	SF	400.00	\$10.00	\$4,000.00	-86%	\$256.00	\$102,400.00	266%
			MOBILIZATION (CRANE LIFTING GIRDER,								
53	500-6001	6001	EQUIPMENT ETC)	LS	1.00	\$165,000.00	\$165,000.00	136%	\$364,584.00	\$364,584.00	421%
54	454-7003	7003	ARMOR JOINT (SEALED)	LF	60.00	\$130.00	\$7,800.00	-41%	\$341.00	\$20,460.00	56%
55	540-7002	7002	MTL W-BEAM GD FEN (STEEL POST)	LF	120.00	\$320.00	\$38,400.00	811%	\$42.00	\$5,040.00	20%
56	427-7004	7004	SILICONE RESIN PAINT FINISH	SF	600.00	\$3.00	\$1,800.00	-99%	\$6.00	\$3,600.00	-98%
57	432-7043	7043	RIPRAP STONE PROTECTION (18")	CY	420.00	\$250.00	\$105,000.00	2066%	\$226.00	\$94,920.00	1858%
				Subto	tal of Item F	Subtotal	\$1,155,950.00		Subtotal	\$1,317,938.00	
G		STORM W	ATER POLLUTION PREVENTION PLAN								
			SODDING FOR EROSION CONTROL (VARIOUS								
58	H00162001		WIDTHS)	SY	200.00	\$10.00	\$2,000.00	150%	\$12.00	\$2,400.00	200%
59	H00165001	HC 165	HYDRO-MULCH SEEDING	AC	1.00	\$3,000.00	\$3,000.00	100%	\$5,245.00	\$5,245.00	250%
60	H00713001	HC 713	FILTER FABRIC FENCE, FURNISH AND REMOVE	LF	2,500.00	\$4.00	\$10,000.00	233%	\$3.00	\$7,500.00	150%
			INLET PROTECTION BARRIER, FURNISH,								
61	H00719001	HC 719	INSTALL, AND REMOVE	LF	100.00	\$10.00	\$1,000.00	0%	\$11.00	\$1,100.00	10%
			STABILIZED CONSTRUCTION ACCESS,								
62	H00724001	HC 724	FURNISH, INSTALL, AND REMOVE	SY	1,000.00	\$41.00	\$41,000.00	37%	\$29.00	\$29,000.00	-3%
63	H00751001	HC 751	SWPPP INSPECTION AND MAINTENANCE	MO	10.00	\$800.00	\$8,000.00	-60%	\$717.00	\$7,170.00	-64%
				Subto	tal of Item G	Subtotal	\$65,000.00		Subtotal	\$52,415.00	

Darby Lane Bridge and Channel Rehabilitation and Conveyance

Project: Improvements to Long Point Creek

UPIN: Job No:

Prepared By: iGET Services LLC

Date: 12/26/2024

Format Row & Column

	MC2 Civil LLC	TLC Construction Contract Services
Gand Total	\$3,464,115.00	\$4,419,903.00
DAYS	465	465

ITEM	Contract	SPEC	DESCRIPTION	UNIT	QUANTITY	Unit Price	Amount	Variance	Unit Price	Amount	Variance
NO.	Item No.	NO.	DECORNI HOR	O.U.	QO/IIIII I	OTHE T TIGO	7 till Galle	variance	Gille i rioo	, anount	Turiurio
Н		** EXTRA	WORK ITEMS-MISCELLENOUS								1
64	H00110002		SPECIAL ROADWAY EXCAVATION	CY	1,315.00	\$35.00	\$46,025.00	250%	\$22.00	\$28,930.00	120%
65	H00160001		FURNISHING AND PLACING TOPSOIL	CY	200.00	\$25.00	\$5,000.00	150%	\$45.00	\$9,000.00	350%
66	7306003		EXTRA MOWING	AC	2.00	\$500.00	\$1,000.00	150%	\$420.00	\$840.00	110%
67	H00672001		OFF-DUTY UNIFORMED PEACE OFFICERS	HR	500.00	\$65.00	\$32,500.00	155%	\$90.00	\$45,000.00	253%
			PORTABLE TRAFFIC BARRIER, FURNISH AND								
68	H00671003		INSTALL	LF	500.00	\$20.00	\$10,000.00	-33%	\$149.00	\$74,500.00	397%
69	5126025		PORTABLE TRAFFIC BARRIER, MOVE	LF	100.00	\$7.00	\$700.00	-65%	\$23.00	\$2,300.00	15%
70	H0450002		COMBIINATION RAILING	LF	150.00	\$150.00	\$22,500.00	25%	\$401.00	\$60,150.00	234%
				Subto	tal of Item H	Subtotal	\$117,725.00		Subtotal	\$220,720.00	

	\$3,464,115.00	\$4,419,903.00	
DAYS	0	0	
ACTUAL AMT	\$3,464,115.00	\$4,419,903.00	
ERROR DIFF	\$0.00	\$0.00	

\$955,788.00

BID DIFF from next lower